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1. Introduction* Let {cn}, for n = 0, ± 1 , ± 2 , , be a sequence

of real numbers satisfying c0 = 0, C-n =cn and 0 < ΣJC%

2 < co, and

let f(θ) ( ί 0) be the even function of class L\—π, π) defined by

(1) f(θ)~ Σ cne
ίnθ = 2Σ

n — — °o n—1

Define the Toeplitz matrix T and the Hankel matrices H and K by

( 2 ) Γ = ( c w ) , H = (c<+y_,) and iΓ = (c i + ί), where i, i = 1, 2, .

Then

( 3) T = F+K, where .F = [ f(θ)dE0(θ) ,
JO

and {Ĵ o(̂ )} is the resolution of the identity of the matrix belonging
to the quadratic form 2^nZ1xnxn+1. (See [12], p. 837.)

A self-adjoint operator A on a Hubert space, with the spectral

resolution A = VλdE(X), will be called absolutely continuous if || E(X)x ||2

is an absolutely continuous function of λ for every element x of the
Hubert space. If the function f(θ) of (1) is (essentially) bounded
then T must be bounded (Toeplitz). Since F must also be bounded,
so also are H and K. It was shown in [12], p. 840, using methods
involving commutators of operators, that if the function g(θ) defined
by

( 4 ) g(θ) ~ jticj"

is bounded (hence f{θ) is also bounded) then T must be absolutely
continuous if either

( 5 ) 0 is not in the point spectrum of H (that is, if"1 exists) ,

or

{ 6) F is absolutely continuous .

Rosenblum [17] has shown, using results of Aronszajn and Donoghue
[1], that in fact T is always (with no restrictions) absolutely continuous.
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